_;SOQO va pp | tt

';' | T I T I T I T I T | T I T I T I T I 9
@ B | . . 15
@) — P_ (ATLAS dileptonic ttbar) 43
= i s
QI—:|.0 E_ _E o
S | — N
—
8 4o
— ™M
°
— 10_2 = —:0_:
B —©
o™
>
107 = —
— 10
— 1M
— |
_ =
— m ATLAS - >£
— —2A— Pythia 6.428 370 1=
|l Pythia 6.428 default e
107 £ 4+ Pythia 8.308 default 43
- 8
L 1 a
(@]
: | | | | ! | | ' | | ! | | | | !: E
2 = 2
) n .
< — ]
-l - A —
l_
< — ) N —
S 1 W .
kel B .
= B |
m I —
0.5 —H0.5
" " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 100 200 300

Lepton P, [GeV]



	Contents
	Page 1


